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1. BERER

B Wk - ik LR % B HIME W =
(1) THT
ayzY—h o ck=24N/mn” 142.50 m3 142.5 143.0
b e — R A 174.6 | m2 174.6 175.0
¥Larzy—h o ck=18N/mm” 2.30 m3 2.3 2.3
TR ¥L=av s ) — pRI 2.3 m2 2.3 2.3
D29 4, 165 kg 4165. 0 4165. 0
- 4,165 kg 4165. 0 4165.0 |D29~D32
D25 632 kg 632.0 632.0
D22 1,223 kg 1223.0 1223.0
g D19 1,626 kg 1626. 0 1626. 0
D16 1,416 kg 1416.0 1416.0
NF 4, 897 kg 4897.0 4897.0 D16~D25
D13 300 kg 300. 0 300.0 D13
& 3 9, 362 kg 9362. 0 9362. 0
BRI — D32 187 kg 187.0 187.0 |[D29~D32
(SD345) /\D16: 64 kg 64.0 64.0 D16~D25
& 3 251 kg 251.0 251.0
. R D16 25 ke 25.0 95.0 |D16~D25
1&%@(&5;5)/73 . /\DIB: 5 ke 5.0 5.0 D13
& F 30 kg 30.0 30.0
L D25 10 kg 10.0 10.0 |p16~D25
%%F(ﬁg]fﬁ”w 9 (SR235) 2 ke 2.0 2.0 09
& 7 12 kg 12.0 12.0
ST 2 T — I R ¢ 175, L=0.67m 5.4 m 5.4 5.4
2% T e, H=30m 195.2 | f#m2 195.2 195.0
X R T IS THR— b 9.2  Z%m3 9.2 9.0
T D32 187.0 187.0 kg
it D29 4165. 0 4170. 0 kg
D25 632+10 642.0 642.0 kg
D22 1223.0 1220.0 kg
D19 1626. 0 1630.0 kg
D16 1416+64+25 1505. 0 1510.0 kg
D13 300+5 305. 0 305. 0 kg
(2) HEBET
D16 162 kg 162.0 162.0 @i
&% D19 330 | kg 330.0 330.0 7
& 3 492 | kg 492.0 492.0 |D16~D19
Bl Hikg - ~Hk HAL ) B &= e %
(3) RE&ET
T b I 74 : 1000 X 2000 X 208, n=204r 430kg/# m2 40.0 40.0 HEHEEC
7Y : 1000 X3000X208, n=67#r 630kg/H# m2 201.0 201.0 )
LR TR WA m2 42.8 43

IR MGEE 20X 0. 43+67 X 0. 63=50. 81t




ABEREHE

2. a4 y—+bk (ock=24N/mmd)

D1/2x{1,72x(1.951+1.945) +1,72X (1.956+1.949) } X 1,72 (0. 741+0. 770) = - (m3)
@ 1,/2x{1,/2X (1.566+1.559) +1,/72X (1.699+1.694) } X 1,72 (2. 366+2. 434) = - (n)
@ 1/72x{1,72x (1.699+1.694) +1,72X (1.729-+1.732)} X 1,72 (0. 515+0. 680) = - (n)
@1,/72X{1,/72x (1.5784+1.581) +1,/2X (1.697+1.699) } X2. 071 = - (n)
®1,/2X{1,/2X(2.087+2.089) +1,2X (2.086+2.088)} X0.621 = - (n)
® 0.500X0.300X1,72X (5.004+5.487) +1,72X0. 500X 0. 500 X 3. 694

+1,/6X0.500X0.500X (0. 79340. 517) = - (n)
@ {1,/2X (4.139+4.161) X 1. 100+4. 161 X0. 500} X 1,72 X (3. 043+ 3. 884) = 23.02 (n)
® {1,72X (4.290+4. 312) X 1. 100+4. 312X 0. 500} X 2. 692 = 18.54 (n)
© {1,72X (1.700+2. 300) X 2. 000+4. 000X 2. 000} X 7. 500 = 90.00 (1)
@ 1,/72%{1,72X (0. 857+2.934) X2.979+1,72X (2.934+4. 161) X 1. 760

+1,/72% (0.857+3.036) X3.126+1,72X (3.036+4. 161) X 1. 613} X 0. 600

+1,/2%0.855X0.600X4. 161 = 820 (n)
@ 1,/2%0.793X0.500X4. 161 = 0.8 (n)
@1,/2x{1,/2X1.372X1.5314+1,/2X1. 535X 1. 712} X0. 600 = 0.71 (n)
@ 1,/2%0.517X0.500X%0. 831 = 0.11 (n)
ZEREHIFRES 1,/2X (1.10540.901) X 1. 100X 1. 000 = 1.10 (n)
&5t = 142.50 (m3)
3. ® 7 (—H
D {1,72X (1.951+1.945) +0. 390} X 0. 500X 1. 276598 = - (m2)
@ 1,/2% (1.951+1.956) X0.741+1,72X (1.945+1.949) X 0. 770 = - (n)
® 1,/2X (1.566+1.699) X2.366+1,72X (1.559+1. 694) X 2. 434 = - (n)
@ 1,/2% (1.699+1.729) X0.515-+1,72X (1. 694+ 1. 732) X 0. 680 = - (n)
® {1,72X (1.578+1.697) +1,72x (1.581+1.699) } X 2. 071 = - (n)
® {1,72X(2.087+2.086) +1,72X (2.089+2.088)} X0.621 = - (n)
@ {1,72X (2.08642.088) +0. 390} X 0. 500X 1. 035276 = - (n)
® 0.300%5.487+0.500Xy 2X1,72X (3.694+5.004) = - (n)
© {1,72X (4.139+4.161) X 1. 100+4. 161 X0. 500} X 1. 276598 +0. 151 X 1. 100X 1. 035276 = 8.7 (1)
@ 4. 139X 3. 043+4. 161 X 3. 884 = 28.8 (n)
@ (4.290+4.312) X2.692 = 23.2 (n)
@ {1,/72X (4.290+4. 312) X 1.100+4. 312X 0. 500} X 1. 035276 = 7.1 (n)
@ 1,/2X (1.7004+2. 300) X 2. 000-+4. 000X 2. 000 = 12.0 (n)
@ (4.000-+2.000) X7.500 = 45.0 (n)
® 1,/2X (1.7004+2. 300) X 2. 000-+4. 000X 2. 000 = 12.0 (n)
@® 1,/72% (0.857+2.934) X2.979+1,72X (2.934+4. 161) X 1. 760 = 11.9 (n)
@ 1,/2% (0.857+3.036) X3.126+1,72X (3.036-+4. 161) X 1.613+0. 855X 4. 161 = 154 (n)
@ 0.857X0.611+5. 777X 0. 600 = 4.0 (1)
@ 1.495% 4. 161 = 6.2 (1)
@ 1,72x1.372x1.531 = L1 (n)
@) 1,/2%X1.535X1.712 = 1.3 (n)
@ 1,/2% (2.056+2.299) X0. 600 = 1.3 ()
@ 0.631X%0. 831 = 0.5 (n)
BEEMISZ VT B ER12ER: 0. 800 X (0. 79343. 69440. 517) = - (n)
R ¢ v ZEPES (4. 161+4. 161) X 0. 793 = 6.6 (1)
AT 4 v 7 ERS (0. 83140.831) X0.517 = -0.9 (n)
PRI (1. 404+1.28840.901) X 1. 000 = 3.6 (1)
&5t = 174.6 (m2)



4 t5Lavy)—r (ock=18N/mm)

V= (1.800X2X7.700— 7 /4% 1. 000°X6) X0. 100 = 2.30 (m3)
5. JLavy ) — rEIR
A= (1.800 X 2+7.700) X2X0.100 = 2.3 (m2)
6. % 5 (SD345) XABEEHRSEDE,
D29 ——— 4,165 (kg)
INE 4,165 (kg)
D25 ——— 632 (kg)
D22 ——— 1,223 (kg
D19 ——— 1,626 (kg
DI6 ——— 1,416 (kg)
INEE 4,897 (kg)
D13 ——— 300 (kg)
iy 9,362 (kg)
1. BARLEBHBE 7 > H— (SD345) X MBEEEMHRSEDE,
D32 ——— 187 (kg)
JNEF 187 (kg)
D16 ——— 64 (kg)
&t 251 (kg)
8. HfEMFE T~ h—F (SD34b) X MBEEEMHRSEDE,
D16 ——— 25 (kg)
INEE 25 (kg)
D13 — — — 5 (kg)
CEl 30 (ke)
9. BXEMRZEERT > h—F5 (SD345) X MBEEEHRSEDE,
D25 — — — 10 (kg)
SN2 10 (kg)
(SR235) 69 ——— 2 (kg)
&t 12 (kg
10. X&R7 H—EMEHEE (H175,L=0. 67m)
L= 0. 67 X8 (f571) = 5.4 (m)



1. BBT (B#AR5, H=30m)
(a) TABA(RED
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4000

Al= 4.000X7.500+ (7. 699+4. 851+0. 922-+6. 066+ 1. 137+ 3. 934) X 6. 000

b) Y1 TEB

]« U GE) EQ 4 2T (AE)

2900

-

QT 1 Y HE - A6 9 (H#m2)

A2=6.9+10.6

YA= Al+A2 = 177.7+17.5

QT YT RE A=10,5(®Z)\

177.7

17.5

195.2

(Htm2)

(Hhm2)

(Hhm2)



12. XRT (A THHR—F)

BRIy« L7 E

g

\

=N

$4%  1.586084 N\

2
e
)

BBIT4 27 6. 3m2)

I

O\

D« > (RE)

V1= 172X (6.30+3.90) X0.600

V2= {1,/2X (4. 312+2.781) X 1. 372+1,72X (4. 312+2. 600) X 1. 5635} X 0. 600

XV= V1+V2 = 3.1+6.1

HE - 1586684 AN

R« T A3 9m2)

8V« 7 (5E)

BT+« L THE

3.1

6.1

9.2

(2&m3)

(2&m3)

(2&m3)



13. HEHET

Gl i
HEHLE L = 5.50 4.50 (m)
AR 2 N = 3 3 (£)
&% f7 (SD345) XAIBE BIITHOMEMRSEOE,
(8 &)
LAY Y FU3ARY 1
D16 ——— 54 X 3 = 162 (kg)
/NEt 54 162  (kg)
[ 1)
LAY Y FU3AR Y 1
D19 ——— 110 X 3 = 330 (kg)

/NEt 110 330 (kg)



14 REBET X RERAT—CTEERSE,
iz Rl K - Tk % & HoOAL OB O
— I : 10002000 X 208, n=20KC  40.0 m2 S
! 78 : 1000 X 3000 X 208, n=67fx 201.0 m2 I

15 REXRT EERA X ARYLIFER. FERSE.

54\4

V364. 000

BIE : L=5.50m, N=3%&
@ : L=4.50m, N=3K

7.5%X5.464 X 1.044= 4278 42.8 m2



